# U4D1_T Exponent Laws 



U4D1 T Exponent...


NOTE: $(x+y)^{n}$ does NOT have a similar rule.
Example 1. Simplify. Express your answer with positive exponents
a) $x^{-3} \cdot x^{-5}$
b) $m^{2} \div m^{-3}$
b) $\begin{aligned} & m^{2} \div m^{-3} \\ &= m^{2}-(-3) \\ &= m^{2+3} \\ &= m^{5} \\ & \text { f) }\left(\frac{3 x^{2}}{z^{3}}\right)^{2}\end{aligned}$
c) $\frac{a^{5} b^{3}}{a^{2} b^{2}}$
d) $\left(-2 c^{3} d^{-5} e\right)^{2}$
a) $\begin{aligned} & x^{-3} \cdot x^{-5} \\ = & x^{-3+(-5)} \\ = & x^{-8} \\ = & \frac{1}{x^{8}} \\ \text { e) } & \left(4 x^{3} y^{2}\right)\left(7 x^{2} y^{4}\right)\end{aligned}$
$=\frac{(3)^{2}\left(x^{2}\right)^{2}}{\left(z^{3}\right)^{2}}$
g) $\frac{\left(2 x^{-2} y\right)}{10 x^{-4} y^{-3}} B E D_{\text {mi s }} \frac{\left(-2 x^{-3} y\right)\left(-12 x^{-4} y^{-2}\right)}{6 x y^{-3}}$
$=28 x^{3+2} y^{2+4}$
$=\frac{(2)^{3}\left(x^{-2}\right)^{3}(y)^{3}}{10 x^{-4} y^{-3}}=\frac{24 x^{-7} y^{-1}}{6 x^{1} y^{-3}}$
Example 2. Evaluate. Answers should be left as reduced fractions (decimal answers are not acceptable).
$=28 x^{5} y^{6}$

$$
\begin{aligned}
& =a^{5-2 b^{3} b^{3-2}}=(-2)^{2}\left(c^{3}\right)^{2}\left(d^{-5}\right)^{2}(e)^{2} \\
& =a^{3} b \quad=4 c^{6} d^{-10} e^{2}=\frac{4 c^{6} c^{2}}{d^{10}}
\end{aligned}
$$

$$
=\frac{(3)^{2}\left(x^{2}\right)^{2}}{\left(z^{3}\right)^{2}}
$$

$$
=\frac{(2)^{3}\left(x^{-2}\right)^{3}(y)^{3}}{10 x^{-4} y^{-3}}
$$

$$
=\frac{24 x^{-7} y^{-1}}{6 x^{1} y^{-3}}
$$

$=\frac{9 x^{4}}{z^{6}}=\frac{8}{10} x^{-6+4} y^{3+3}=4 x^{-7-1} y^{-1+3}$
$=\frac{4}{5} x^{-2} y^{6}=\frac{4 y^{6}}{5 x^{2}} \quad=4 x^{-8} y^{2}=\frac{4 y^{2}}{x^{8}}$

$$
\because
$$

$$
=4 x^{-8} y^{2}=\frac{4 y^{2}}{x^{8}}
$$

Do not use a calculator!!!
a) $\left(\frac{3}{4}\right)^{-2}$
b) $\frac{(-6)^{0}}{2^{-3}}$
c) $\frac{\left(2^{-4}+2^{-6}\right)}{2^{-3}} \times \frac{2^{6}}{2^{6}}$
d) $\frac{3^{-5}}{3^{-4}+3^{-3}} \times \frac{3^{5}}{3^{5}}$
$=\left(\frac{4}{3}\right)^{2}$
$=(-6)^{0}(2)^{3}$
$=\frac{4^{2}}{3^{2}}=\frac{16}{9}$
$=1(8)$
$=\frac{2^{2}+2^{0}}{2^{3}}$
$=\frac{3^{0}}{3^{1}+3^{2}}$
1
$=\frac{4+1}{8}=\frac{1}{3+9}$
$=\frac{5}{6}$

$$
\begin{aligned}
& =\frac{7+1}{8} \\
& =\frac{5}{8} \\
& =\frac{5^{-200}+5^{-198}}{5^{-199}-5^{-200}} \times \frac{5^{200}}{5^{200}} \\
& =\frac{5^{0}+5^{2}}{5-5^{0}} \\
& =\frac{1+25}{5-1} \\
& =\frac{26}{4} \\
& =\frac{13}{2}
\end{aligned}
$$

